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Lar AT _8e ChO02

Student:

1. Write the slope-intercept form of the equation of the line through the given point perpendicular to the given
line.

point: (-7, -8) line: -9x —45y =9
_1_ 65
Y=3%7
A.
y=5x—4—53
B.
y=o0x+27
C.
y==9%x+53
D.
__1 47
] 5
E.

2. Gretel's Computer Repair Store purchases a network server for $1145. The machine has a useful life of 5
years after which time another one will have to be purchased. Assume depreciation of the machine is linear.
Write a linear equation giving the value V of the network server during the 5 years it will be in use.

1
o= —ﬁﬁ - 1144
A.
B. ¥ = 22% — 1145
1
V= st + 5
C.
iyt
T 229
D.
E.F = —22% 4+ 1145

3. Does the table describe a function?

Input value 2001 2002 2003 2004 2005
Output value 30 60 30 50 40




A. no
B. yes

4. Does the table describe a function?

Input value 10 30 10 20 40
Output value 2001 2002 2003 2004 2005
A. yes

B. no

5. Does the table describe a function?

Input value 1 3 4 3 1
Output value -12 -7 0 7 12
A. yes

B. no

6. Does the table describe a function?

Input value -4 -2 0 2 4
Output value 7 7 7 7 7

A.no
B. yes

7. Which set of ordered pairs represents a function from P to Q?

P=1{5,10, 15, 20}

0=1{-3,-1,1}
AGD(5-1,6.-2,05.1}

ﬂw cH e LTl
{ﬁ £ 6 [0 6 [T T e oy
C.

{Uﬁ—U(m )1 R Ll A e b
{UD—U(HI)@U—U}




8. Which equation does not represent y as a function of x?
2x = =Sy

dy = -9
B.

c bxi 4Ty = -2
—dxdilhr= =
D.

£ -9 +7x = 3

9. Which equation does not represent y as a function of x?

AV = ~fi+x
¥ = ‘—8+9x2
B.
x = —6y+D
C.
Dx= -1
v="Tx+5
E.

10. Evaluate the function at the specified value of the independent variable and simplify.
g(y) = —éy->5

g (0.2)

A. 3.8
—1.2y+30
B

0.2p+5
C.
0.2y—5
D.
E.-6.2



11. Evaluate the function at the specified value of the independent variable and simplify.
2w, w= —1

giw) = 2W2+2W, l=2w=1

(3]

2w3+2w2, w o= 1

Iaf—

LA | —

e

12. Find all real values of x such that f (x) = 0.
—bx—9
1) = =5




13. Find all real values of x such that f (x) = 0.
Flx) = 81x° — 49

14. Find the value(s) of x for which f (x) = g (x).

Flx) = 22 +Tx+33 EUih= il
A =6, =7
B 6,7
3
85
C.
3
3326
D.
3
-40, - 3
E.

15. Find the domain of the function.
Bs

g (=) = z

=

As=6g=10
B.g =6

C. all real numbers & # &, 5 # [
D. all real numbers

E. all real numbers & # ©



! 2
16. A rectangle is bounded by the x-axis and the semicircle »= 4-x (see figure). Write the area A of the
rectangle as a function of x and determine the domain of the function.

_}f=ﬂ.l4—x2

Pt (x, ¥)

X

-
-2 2

A A(x)=2fx|4-x%, —25x=2

g A(x)=2x+d-x?, -2=x<2

C_J{l(}:]=xﬂ.l4—x2, 20
D Alx)=2x+ 4-3%, x20

g Aix)=|x| 4-x%, all real numbers

17. Find the difference quotient and simplify your answer.
geighakifels 01

o 2 -

Ary) = -4 +8y, P

A —2—4k

12
6—dy+—=
7Ty

B.
C.6— 4k
12
—D—dy =
i N

D.
E &+ A&




18. Use the graph of the function to find the domain and range of f.

F Y
2 LY
. 1/
/ I
——t— 0 i
623 00 1
I |
Iz |
_,q_-—
le |
A. domain: al real numbers
(—oo, —21J (-1, o)
range:
o (e, 23U (-2, )
B. domain:
(—co, =231 (-1, o0}
range:
o (e, =2) Y (-1, )
C. domain:
(—oo, —21J (-2, o)
range:
D. domain: &l real munbers
I:—DD, -2l U [—1, o)
range:

E. domain: all real munmbers
range;  alreal mumbers



19. Use the Vertical Line Test to determine in which of the graphs y is not a function of x.
A. All of the choices (A, B, C, and D) represent functions.




20. Find the zeroes of the functions algebraically.

2
rr+x-—6
Flay = ZEEZ8
x=—2,x=3x=é
A.
BX=2,x= -3
C o= st
1
I
D.
PR A L xzé
E.

21. Find the zeroes of the functions algebraically.

fix)= ~J-Tx -2
2

e
s S
A.

B. no real zeroes
_ _z2
- 7

C.

4

= il
s
D.

L 4

- 7



22. Use a graphing utility to graph the function and find the zeroes of the function.

:
k= =S
o
B 5

A.
o i
=
B.
L _ D
T
C.
D. no real zeroes
e 2
= i



23. Determine the intervals over which the function is increasing, decreasing, or constant.

2
-x x <1
Jlx) =
x2—2x+2, =1
55)’
Pl |
x
+—t S
5 -4 3 4 5

mncreasing on (—eo, 0)
A decreasing on (0, oo]

increasing on {—co, 0
decreasing on (0, 1)

B lncreasing on (1, co)

decreasing on (—oo, 1)
c. increasing on (1, co)

mcreasing on (—oo, 1)
D, decreasing en (1, o)
decreasing on (—co, 0)

mcreasing on (0, 1)

£ increasing on (1, co)



24. Use a graphing utility to graph the function and visually determine the intervals over which the function is
increasing, decreasing, or constant.

Flrlis x4+ 3+ 1

increasing on (—oo, o)
A

decreasing on (—oo, — 1)
mcreasing on(—1, 1)
B decreasing on (1, oo}

decreasing on (—co, ()
c. increasing on (0, c0)

decreasing on (—cD, co)
D.
increasing on (—oo, — 1)

decreasing on (—1, 1)

£ increasing on (1, co)

25. Use a graphing utility to graph the function and approximate (to two decimal places) any relative minimum
or relative maximum values.

Flx) = 2 +3x  +x—-4

A. relative maximum: (—4.0%, —0.18]
relative minimum: (—1.91, — 1.52)

B. relative maximum: (—0.18, —4.08)
relative minimum: (—1.82, — 1.91)

C. relative maximum: (—1.82, — 1.91)
relative minimum: (—0.18, —4.09]

D. relative maximum: (—1.81, — 1.82)
relative minimum: (—4.09, —0.18)

E. relative maximum: —4.0%, —26.29)
relative minimum: (—1.91, — 1.93]



26. Graph the function and determine the interval(s) for which f (x) 3 0.
2
Jlxy=s =xt—dx

¥~

(—eo, —4) U (0, 0]
A.
(—4. 0]

B.
[—4, 0]

C.
1=l
D

l(—o::, 41 U [I:I, o)
E.

27. Determine whether the function is even, odd, or neither.
3

4
Flxh= 7%
A. neither
B. even
C. odd



28. Write the height h of the rectangle as a function of x.

2

<
th
- N W = M OO ~N @

[
¢
N &
w
F =N

A H(x) =—x? 42z +4

B A2 (x] = —2x° + 6x
chizx)=-2x+10

D #ix) =z’ 42z + 5
E hix) = éx

g = —16° + vpt + 5
29. Use the position equation to write a function that represents the situation and

give the average velocity of the object from time t to time to.
An object is thrown upward from a height of 174 feet at a velocity of 1 feet per second.

ti=1, =5

ASs= — 1662 + 1742 + 1
B 5= — 1662 + 1t + 174;
cos= — 1662 + 174t + 1;
—16£% + 1t + 174;
£s= —1662 + 1t + 174;

avg velocity = 157 ftfs
avg. velocity = — 16 £z
avg welocity = 73 fifs
avg. velocity = — 90 s

©
7]
I

avg velocity = — 380 fts



30. Write the linear function f such that it has the indicated values.

A3 = -4, (-8 = 2
10 29
Y= gEtTT
A.
E
AT
B.
_ 6 _#62
YE TN
C.
__6 26
YT
D.
_ 78l
Y= 10T 10
E.

31. Evaluate the function for the indicated values.

f(x):4|]:x+8:|] +8

13)
RELC) I G ) B
() (ii) (iii)

A Y60 (i)-168  (ii)44

g (1160  (i)—168  (ii)40

c )61 (i)-172  (ii)44
p.(i)61  (i)-172  (ii)40

E (1160 (i)—-172  (ii)40



32. Which function does the graph represent?

5+ —o
44+—0
34+—0
)
01+ ¥
%%%—G#Ulé#%%%b
-5-4_-8-2-1_1_1 2 3 4 5
p—O) .k
CHE
4+
5+
A. g(x): I]:SI]]
glxy=[x +3]
B.
C. g(x):Bl[x]l
5y
3
D. g(x):": ]]

o = Lx - 3]



33. Which graph represents the function?

g(x): I[.T o 1]]
iy

m<
Y 0-2...
EARN SR
L4 il bl LAl
1T O
-4 O
A.
B.
Ay
1404 -
a5 - -
N
N N
b
-4 -2.0..03. 4
O 1
—O=-44
Cm 1
C.
- ,A.‘.,V.A.
-4 -2.0..4)~4
ol ! Lal
.Q
-4 L L gy




#4

L)

—1

-

4

S |
. Wy |

—




34. Which graph represents the function?

flx) =

o

1V




35. Use the graph of
flx) = x|

to write an equation for the function whose graph is shown.

f(:r) =-3x - 1| + 2

f(xj— “3lx + 1] + 2
Bf(x]—|3x+l|+2

j(xj_ “3x + 1] - 2

f{x]—|3x—1|+2
E.



3
36. Describe the sequence of transformations from the related common function Flx) =127y g.

g(x) = 4(x - 4)°

A. vertical shift 4 units up; then vertical shrink by a factor of 4

B. horizontal shift 4 units left; then vertical shrink by a factor of 4
C. horizontal shift 4 units right; then vertical stretch by a factor of 4
D. vertical shift 4 units down; then vertical shrink by a factor of 4
E. horizontal shift 4 units left; then vertical stretch by a factor of 4

37. Write an equation for the function that is described by the following characteristics:
2

the shape of flx)=x , but moved eight units down, two units to the left, and then reflected in the x-axis
2

Aglx)=2-(x+3)

gglx)= —(x+2)°* -8
2

cglx)=8-(x+2)

0. g(x) = —(x +8)¢ -2
2

gglx)=8-(x-2)

38. Write an equation for the function that is described by the following characteristics:
the shape of f(x) = [[x]] , but reflected in the y-axis, moved five units down
Agx)=Lxd +5

B.g(x) =-Lx-5

C.gx)=-Lx+5

D.g(x) = Lx:I] -5

E.g(x) =-Ixd +5



39. Find ( f + g)(x).
Flx) = 2xl—2x+7

glx) = 4x% — 2749

A (f+Q) =25 =2

B. (f+g)(x) = —6xltdx—16
C.(f+g)x) = 6x" —4x” +16
D. (f+g)(9) = —2x° =2
E.(f+g)x) = 6x° —4x+16

40. Find (/g )(x).
f[xj:x2+?x £l it

x2+?x

Iiffgj(sz _E_x,xiﬂl

A.
(ffgj[x] = xj;,x z 0

B.

2
(fle)w)= -5 -T.x=0

x2+?x

(jfgj(sz ST -z
D.

(fig)x) =

x2+?x
-2 —x’




41. Find (fg )(X).

Flx) = f-2x glx) = ~f-9x-1
Iifgj[xj = A/ =-11x-1

A.

(fe)x) = ~18x° -1
B.

(fgj(x] = ﬂ}18x2+2x
C.

(f2)(x) = 3xaf2+4f2x
D.

(fg:](xj = 3xAJ2+2x
E.

42. Find (f-g)(x).

Q9x 4
fa) = —as gy = -2

—9% + 30
(F- ) = ==
A.
_ —9x?+28x+8
5 (f gj(.ﬂ B Txd = 2x
| _Gr 44
(e lle= oo
C.
_ —ox? 4 08x—8
Iif E:l':x:'— T"xz—Ex
D.

—9x+26
(F-g)x) = =5~
E.



2
43. Evaluate the indicated function for Slx)=x"-Tandgix) = x+3

(/- g)e+2)

+3f— 2
+3£— 18
C.t“+5-8
Dt —f—8
Ei“+5-2

Al
B.Z

B2 b B2 B2 B2

2 glx) = x+7
44, Evaluate the indicated function for J(x) = &7 =3 apq .
(fg)(@)

A.12

B. 32

C.-20

D.-16

E. 30

a

45. Find

fix)=x-3 A, 52



o

46. Find .
Fix)= =2xt7 glx ) =uzb 2

A Iifﬂgj(x] = —Zx+3
. [fﬂgj{x]= —3x+5
(fog)x) = —2x°+3x+14
C.
5 Iifﬂgj(x] = —3x+9
- [fﬂgj{x] = —2x+%9
47 Find
B 9
Jlx) = x+5 = L2 _ns
(Fog)x) = %
A.
14
) (feg)x) = S
szl 44
C (feg)x) = Yy
(Fog)x) = —=
D x4+ 10x
552 - 116
(feog)lx) = e

E.



48. Use the graphs of f and g to evaluate the function.

=

o
4

49. The monthly cost C of running the machinery in a factory for t hours is given by
C(2) = 10¢ + 450

The number of hours t needed to produce x products is given by

£l =-8%

Find the equation representing the cost C of manufacturing x products.

A Clx) = 18z + 460

g C(x) = 80x + 4500
c. Cix) = 10x + 458
D C{x) = 18x + 450
£ C(x) = 80x + 450

50. Find the inverse function of f.
HEVE x40

A S x) = 2x -2
B/ (x) = fx +2
o/ )= —Ax+2
0./ )= - Ax+2
e/ (x) = x-2



51. Show algebraically that fand g are inverse functions.
(x) = x+3
Flx) = 9x-8 EVIS= Ty

52. Show algebraically that fand g are inverse functions.

flxl= afx—-4 x> 4 g[x]=x2+4,x:_?lf]



53. Graph the given function.
Fix) = (x+3)°

i

&

-

t
_"2.1

A s el ﬁ K8
awe |- 1 5% . ‘ =e
FE] | | bE] | |

- L ]
A b i
D= 0% o™ ¢
. 1l
I.TI_., w |
EEman T




54. Find the inverse function of f.
2x+5 &

EACHE e e
1 _ Tr+6 _E
1 Gl o oeiuesy
A.
1 _ Ix+6 B
1 Flsig iR
B.
1 _ dre=il 6
R e ey L R
C.
1 _ u=Baen 2
Rl el e R
D.
1 _ B 2
i Gl il

E.



55. Determine whether the function has an inverse function. If it does, find the inverse function.
filx) = xz + &

AS ) = x 46,520
B Sx)= Afx-6
o/ x)=Afx -6

D. No inverse function exists.

E.f_llile = Jx+6,x2 -6

56. Determine whether the function has an inverse function. If it does, find the inverse function.

dx+ 5, X
flx) =
(x+3)°-7 Rl s
{ ;':—5, X o< —3
Fxy =4 4
A x+T =3, x = -3
A.
B. No inverse function exists.
(x—5
i T o x < =7
Flx) =
| Ak xr= =7
C.
{ x+5 x < =7
Fxy =4 4
| Ax+T -5 x = =7
D.
i x—5 s
Fx) =



Flx)= % +1 ;
57. Use the functions given by and E(X)=X" 1o find the indicated value.

(fog) ()

6357

512
A

5. 32
c 23557

D. undefined

e 236



Lar AT_8e Ch02 Key

1. Write the slope-intercept form of the equation of the line through the given point perpendicular to the given
line.

point: (-7, -8) line: -9x —45y =9
_1, 65
Y=3%7
A.
43
y—ﬁx—?
B.
yv=0x+27
C.
y=—9+55
D.
_1 47
] 5
E.

2. Gretel's Computer Repair Store purchases a network server for $1145. The machine has a useful life of 5
years after which time another one will have to be purchased. Assume depreciation of the machine is linear.
Write a linear equation giving the value V of the network server during the 5 years it will be in use.

1

= —@.ﬁ — 1144
A.
B. ¥ = 22% — 1145
1
o= —EE + 5
C.
r- 4
229

D.
E.V = —2258 + 1145

3. Does the table describe a function?

Input value 2001 2002 2003 2004 2005
Output value 30 60 30 50 40




A.no
B. yes

4. Does the table describe a function?

Input value 10 30 10 20 40
Output value 2001 2002 2003 2004 2005
A. yes

B.no

5. Does the table describe a function?

Input value 1 3 4 3 1
Output value -12 -7 0 7 12
A.yes

B.no

6. Does the table describe a function?

Input value -4 -2 0 2 4
Output value 7 7 7 7 7

A.no
B. yes

7. Which set of ordered pairs represents a function from P to Q?

P=1{5,10, 15, 20}

0=1{-3,-1,1}
AGD.05-1),(5-3),(15,1)

{(15 cH e LTl
{(5 £ 6 [0 6 [T T e oy

{(15 S Ty L S e
{(m AP0




8. Which equation does not represent y as a function of x?
2x = =Sy

A.
—dy = -4

B.

cbxi4Ty = -2
—dxdilhr= =
D.

E - +7x =3

9. Which equation does not represent y as a function of x?

ALY = Ajotx
¥ = ‘—8+9x2
B.
x = —6y+D
C.
D.x = —1
v="Tx+5
E.

10. Evaluate the function at the specified value of the independent variable and simplify.
g(y) = —éy->5

g (0.2)

A. 3.8
—1.2y+30
B

0.2p+5
C.
0.2y—5
D.
E. 62



11. Evaluate the function at the specified value of the independent variable and simplify.
2w, w= —1

giw) = 2W2+2W, l=2w=1

(3]

2w3+2w2, w o= 1

Iaf—

LA | —

12. Find all real values of x such that f (x) = 0.
—bx—9
1) = =5




13. Find all real values of x such that f (x) = 0.
Flx) = 81x° — 49

14. Find the value(s) of x for which f (x) = g (x).

Flx) = 22 +Tx+33 EUih= il
A6, —7
5 6,7
3
85
C.
3
3326
D.
3
-40, - 3
E.

15. Find the domain of the function.
Bs

g (=) = z

=

As=56,8=0
B.5 =56

C. all real numbers § # &, 5 # [
D. all real numbers

E. all real numbers 5 # ©



! 2
16. A rectangle is bounded by the x-axis and the semicircle »= 4-x (see figure). Write the area A of the
rectangle as a function of x and determine the domain of the function.

_}f=ﬂ.l4—x2

Pt (x, ¥)

X

-
-2 2

A A(x)=2fx|4-x%, —25x=2

g Alx)=2x+4-z%, —22x=2

C. A(le:xﬂ.l-ﬂl—xz, x=0
D Alx)=2x+ 4-3%, x20

e Aix)=|x| 4-x%, all real numbers

17. Find the difference quotient and simplify your answer.
geighakifels 01

o 2 -

Ary) = -4 +8y, P

A -2 4k

12
6—dy+—=
7Ty

B.
C.6—4k
12
—D—dy =
i N

D.
EB+ 4




18. Use the graph of the function to find the domain and range of f.

F Y
2 LY
. 1/
/ I
——t— 0 i
623 00 1
I |
Iz |
_,q_-—
le |
A. domain: all real numbers
(—oo, —21J (-1, o)
range:
o (e, =2) Y (-2, )
B. domain:
(—co, =231 (-1, o0}
range:
o (e, =2) Y (-1, )
C. domain:
(—oo, —21J (-2, o)
range:
D. domain: al real numbers
I:—DD, -2l U [—1, o)
range:

E. domain: all real mumbers
range;  alreal mumbers



19. Use the Vertical Line Test to determine in which of the graphs y is not a function of x.
A. All of the choices (A, B, C, and D) represent functions.

|




20. Find the zeroes of the functions algebraically.

2
x+x-6
Flay = ZEEZ8
= == xzé
A.
ix—? x= —3
C a= = s
1
6
D.
SN A i Y xzé
E.

21. Find the zeroes of the functions algebraically.

fix)= ~J-Tx -2
2

e
s S
A.

B. no real zeroes

_z

- 7
C.

4

= il
s
D.
L_ 4

- 7

|m



22. Use a graphing utility to graph the function and find the zeroes of the function.

:
k= =S
o
B 5

A,
o i
=
B.
L _ D
T
C.
D. no real zeroes
rz 2
= i



23. Determine the intervals over which the function is increasing, decreasing, or constant.

—-x |

flx) =

LU B
e
(A e

mncreasing on (—eo, 0)
2 decreasing on (0, co)

increasing on {—co, 0
decreasing on (0, 1)

B, lncreasing on (1, co)

decreasing on (—oo, 1)

c increasing on (1, oo}

mcreasing on (—oo, 1)
o decreasing on (1, co)
decreasing on (—co, 0)

mcreasing on (0, 1)

£ increasing on (1, co)



24. Use a graphing utility to graph the function and visually determine the intervals over which the function is
increasing, decreasing, or constant.

Flrlis x4+ 3+ 1

increasing on (—oo, o)
A

decreasing on (—oo, — 1)
mcreasing on(—1, 1)
B. decreasmg on (1, o)

decreasing on (—co, ()
¢ increasing on (0, c0)

decreasing on (—co, co)
D.

increasing on (—oo, — 1)
decreasing on (—1, 1)

£ increasing on (1, co)

25. Use a graphing utility to graph the function and approximate (to two decimal places) any relative minimum
or relative maximum values.

Flx) = 2 +3x  +x—-4

A. relative maximum: (—%.0%, —0.18]
relative minimum: (—1.91, — 1.52)

B. relative maximum: (—0.18, —4.0%)
relative minimum: (—1.82, — 1.91)
C. relative maximum: (—1.82, — 1.91)
relative minimum: (—0.18, —4.09]

D. relative maximum: (—1.91, — 1.82)
relative minimum: (—4.09, —0.18)

E. relative maximum: —4.0%, —26.29)
relative minimum: (—1.91, — 1.93]



26. Graph the function and determine the interval(s) for which f (x) 3 0.
2
Jlxy=s =xt—dx

¥~

(—eo, —4) U (0, 0]
A
(—4. 0]

B.
[—4. 0]

C.
{-4}
D

.(—0::, 41 U [I:I, o)
E.

27. Determine whether the function is even, odd, or neither.
3

4
Flxh= 7%
A. neither
B. even
C. odd



28. Write the height h of the rectangle as a function of x.

¥
7+
6..
(0,5)5
44
3t
50
1+

" ‘X

07 2 3 4

A k() =—x? 42z +4

&H(xj ——0x? + 6x

c hix)==2x4+ 10

D A (x) =z’ 42z + 5
Ehix) = éx

g = —16° + vpt + 5
29. Use the position equation to write a function that represents the situation and

give the average velocity of the object from time t to time to.
An object is thrown upward from a height of 174 feet at a velocity of 1 feet per second.
t1=1, t=5

As= —1662 + 1748 + 1,
— 164 + 1t + 174
cs= — 1667 + 174t + 1
— 162 + 1t + 174,

cs= — 1667 + 1t + 174;

avg velocity = 157 ftfs
avg. velocity = — 16 £z

w
)
Il

avg welocity = 73 fifs
avg. velocity = — 90 s

O
t
I

avg velocity = — 380 fts



30. Write the linear function f such that it has the indicated values.

A3 = -4, (-8 = 2
10 29
Y= gEtTT
A.
E
AT
B.
_ 6 _#62
YE TN
C.
__6 26
YT
D.
_ 78l
Y= 10T 10
E.

31. Evaluate the function for the indicated values.

f(x):4|]:x+8:|] +8

/(5
LG I C 7 I
() (i) (iii)

A Y60 (i)— 168  (ii)44

g (1160  (i)—168  (ii)40

c ()61 (i)—-172  (ii)d4

D ()61  (ii)-172 (i )40

g ()60 (d)-172 ()40



32. Which function does the graph represent?

L o S
4+ —0
3+—0
)
—01 4+ %
S s, 0 B i T T
S48 211 1 2.3 48
—Y 2+
3+
-4+
5+
A g(x): I]:SI]]
gix)y=[x +3]
B.
C. g(x):Bl[x]l
x
3
D. g(x):|[ ]]

o = Lx - 3]



33. Which graph represents the function?

g(x) = I[.T o 1]]
Ay

1
R i 1 X




“A

)
-0

4

W
-0

il



34. Which graph represents the function?

flx) =

o

1V




m

35. Use the graph of
flx) = x|

to write an equation for the function whose graph is shown.

f(:r) =-3x - 1| + 2

f(xj— “3lx + 1] + 2
f{x]—|3x+1|+2
j(xj_ “3x + 1] - 2
f{x]—|3x—1|+2
E.
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36. Describe the sequence of transformations from the related common function flx)=x tog.

g(x) = 4(x - 4)°

A. vertical shift 4 units up; then vertical shrink by a factor of 4

B. horizontal shift 4 units left; then vertical shrink by a factor of 4
C. horizontal shift 4 units right; then vertical stretch by a factor of 4
D. vertical shift 4 units down; then vertical shrink by a factor of 4
E. horizontal shift 4 units left; then vertical stretch by a factor of 4

37. Write an equation for the function that is described by the following characteristics:

the shape of flx) = "72, but moved eight units down, two units to the left, and then reflected in the x-axis
A g(x) =2~ (x +8)

g glx)= —(x+2)*-8

cglx)=8-(x+2)°

D)= —(x+8)72 -2

cglx) =8~ (x-2)°

38. Write an equation for the function that is described by the following characteristics:
the shape of f(x) = [[x]] , but reflected in the y-axis, moved five units down

A gx)=Lxd +5

B.gx)=-lIlx-5

C.gx)=-Lx+5

Dot = Lod -5

E.gx)=-ILxd +5



39. Find (f + g)(x).
Flx) = 2xl—2x+7
glm)= 4x% - 2x +9
A(Frg) = —2x" =2

B. (f+g)(x) = —6xltdx—16
C(f+g)x) = 6x  —4x” +16
D. (f+)() = —2x" ~2
E.(f+g)x) = 6x° —4x+16

40. Find (/g )(x).
f[xj:x2+?x £l it

x2+?x

Iiffgj(sz _E_x,xiﬂl

A.
(ffgj[x] = xj;,x z 0

B.

2
(fle)w)= -5 -T.x=0

x2+?x

(jfgj(sz ST -z
D.

x2+?x

[ffgj[x]z _z_x,xiz




41. Find (fg )(X).

Flx) = f-2x glx) = ~f-9x-1
Iifgj[xj = A/ =-11x-1

A.

(fe)x) = ~18x° -1
B.

Iifgj[xj = 4 18%% + 2x
C.

(f2)(x) = 3xaf2+4f2x
D.

(fg:](xj = 3xAJ2+2x
E.

42. Find (f-g)(x).

Q9x 4
fa) = —as gy = -2

—9% + 30
(F- ) = ==
A.
_ —9x?+28x+8
(f gj(x:l— Txd = 2x
B.
—S9x+4
(e lle= oo
C.
_ —ox? 4 08x—8
Iif E:l':x:'— T"xz—Ex
D.

—9x+26
(F-g)x) = =5~
E.
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43. Evaluate the indicated function for Slx)=x"-Tandgix) = x+3

(/- g)e+2)

+3f— 2
+3£— 18
Ci“+56-8
D —f—8
it 45E-2

A ¢
B, ¢

B2 b B2 B2 B2

2 glx) = x+7
44, Evaluate the indicated function for J(x) = &7 =3 apq .
(fg)(@)

A. 12

B.-32

C.-20

D.-16

E.-30

a

45. Find

fix)=x-3 A, 52

>



o

46. Find .
Fix)= =2xt7 glx ) =uzb 2

A Iifﬂgj(x] = —Zx+3
B_[fﬂgj{x]= —3x+5
(fog)x) = —2x°+3x+14
C.
. Iifﬂgj(x] = —3x+9
. [fﬂgj{x] = —2x+%9
47 Find
B 9
Jlx) = x+5 = L2 _ns
(Fog)x) = %
A.
14
) (feg)x) = S
szl 44
C (feg)x) = Yy
| R
D [:f Ej( & ;':2+1Elx
552 - 116
(feog)x)= e

E.



48. Use the graphs of f and g to evaluate the function.

=

o
4

49. The monthly cost C of running the machinery in a factory for t hours is given by
C(2) = 10¢ + 450

The number of hours t needed to produce x products is given by

£l =-8%

Find the equation representing the cost C of manufacturing x products.

A C(x) = 18x + 460

5 C(x) = 80x + 4500
c C(x) = 10x + 458
D C{x) = 18x + 450
£ Cix) = 80x + 450

50. Find the inverse function of f.
HEVE x40

A S x) = Ax -2
B/ (x) = Afx +2
c Sy = = Ax 42
0./ &) = - Ax+2

g/ (x) = Vx-2



51. Show algebraically that fand g are inverse functions.
x+3

Flx) = 9x-8 glx) = =3

o) =1 [245) < {E58) -2 - rva-a

g( /() =glon-8) = Z2EE - F g

52. Show algebraically that fand g are inverse functions.

flxl= afx—-4 x> 4 g[x]=x2+4,x:_?lf]

j[:ﬁ:2+4] - [.—H+4]—4 ot e

Flelx))

g(fx)) =g[+x-4]) = x—4]2+4:x—4+4:x



53. Graph the given function.

F(x) = (x+3)°
e 4y

=

B4

=

gl
]

Hol -4 | P 2 4 | E

[38]

A &

T
|

d=]

B
o

A A

&
.':*,1-
-
L

™

|

|
A A




54. Find the inverse function of f.
2x+5 &

EACHE e e
1 _ Tr+6 _E
1 Gl o oeiuesy
A
Tx+6 5

1 — — —
1 al= PR i
B

| 1 _ dre=il 6
1 B e ™
C.
1 _ u=Baen 2
Rl el e R
D.

L. ; ) 2
E.




55. Determine whether the function has an inverse function. If it does, find the inverse function.
filx) = xz + &

AS )= Jr #6520
g Sz = AJx-6
e S x) = Ax -6

D. No inverse function exists.

E.f_llile = Jx+6,x2 -6

56. Determine whether the function has an inverse function. If it does, find the inverse function.

dx+ 5, X
flx) =
(x+3)°-7 Rl s
{ ;':—5, X o< —3
Fxy =4 4
A x+T =3, x = -3
A.
B. No inverse function exists.
(x—5
i T = =7
Jilx) =
A x+T =3, > R
C.
{ x+5 x < =7
Fxy =4 4
| Ax+T -5 x = =7
D.
i x—5 s
Fx) =



Flx)= % +1 ;
57. Use the functions given by and £ X=X {0 find the indicated value.

(fog) ()

6357

512
A

B. 342
c 5=

D. undefined

e 236



